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1 вариант
1-1, 2-2, 3-2, 4- 9,8 кг
5. 4х+6х+х=132
   11х=132
   Х=12 кар – 3 кор
4*12=48 кар- 1 кор
12*6=72 кор – 2 кор

2 вариант
1-2, 2-4, 3-3, 4-75%
5. 3х+х+0,25х=51
    4,25х=51
    Х=12 кар -2 кор
3*12=36 кар – 1 кор
0,25*12=3 кар-3 кор

География
	№ вопроса
	1
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	Вариант
	
	
	
	
	

	1
	D
	A
	C
	B
	A

	2
	C
	B
	C
	C
	D



Русский язык

1 вариант
1. С
2. А
3. Б
4. А
5. С

2 вариант
1. С
2. В
3. А
4. Б
5. А


Казахский язык
1 вариант   1) А;  2) Д;  3)В, 4) Д; 5) А
2 вариант : 1) С ; 2) А; 3) В; 4) В ; 5) А. 

